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PART A: Vocabualary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct chioice on your answer sheel.

I-  The number of unemployed workers -——————- berween two and threc million.

1} emerges 2} regulates 3} fluctuates 4} distributes
2 Toxic chemicals tend 10 —-—-aee——- in the bady,

1] convene 2) enforce 3} seprepate 4) accumulale
3-  In some countries, it is 4 ——————-- that pucsts wear black clothes,

1} strand 2) convention 1) framework 4) participation
4-  We do not know which behavioral ---------- are inborn and which acquired.

1} traits 2) conduets 3 schedules 4} requirements
3= Fhe poems are supposcd to be by Milton, but they are actoally of doubtutl —eemeemee,

1} revision 23 transition 3) controversy 4} authenticity
6-  The main features of this theory are clearly -—----—- — in the first chapter of this book.

1) involved 2} exceeded 3} delineated 4) comprised
7- The replics to the questionnaire ---------- broadly into there groups.

1) assign 2) segment 3) transmit 4} incorporate
&-  Research shows that it is not divorce =-samee—- that harms children, but the continuing conflict

between parenis.

1) per se 2} ad hoc 3) vis-a-vis 4} per capita
9- They have identified serious -————— in the desipo of the solar-powered car.

1} ruins 2) bidding 3) flaws 4) prohibition
- You are more -——-—-- to illness when you are tired.

1) prone 2} tense 3} definite 4) explicit

| PART B: Grammar

| Directions: Read the following passage and decide which choice (1), (2), (3}, or (4)

| best fits each space. Then mark the correct choice on your answer sheet,

All living things need to be protected from heat, cold and weather conditions, injury, other
animals and germs. The skin (11) --e-eeqeee this work of protection. Birds are greatly helped by an
ower covenng of feathers and most mammals (12) - a voatl of fur. Human beings have hair
o their bodies but not enough to act as a protecion. However, the skin, although (13) ————-=vmr with
clothes for warmth in most climales, does a great deal 1o keep the body healthy, and, (14) -----—---
cul or prerced, is practically germ-proof. The whole of the human body is covered by skin, (15) -----
in thickness according to the part of the body that it covers. It 15 thinnest over the exposed pan of
the eveballs and thickest on the soles of the feet.

11- 1) does a lot 2y makes much 3y makes lots af 43 does much of

12- 1) in 2} by 3 into 4} from

13- 1) covering 2} 1 covers 3311 has 1o cover 43 i1 has to be covered

14- 17 unlcss 2} though 3% i1 was 4} to be

15- 1) that varies 2} which varies 3) that it vanes 4% which it varies
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Part C. Reading Comprehension

Drirections: Read the following three passages and choose the best choice (1), (2), (3) or (4). Then
mark it on your answer sheet.

PASSAGE 1

Since industrial engineers work with the total system, they are necessarily responsible for the
integration of the production worker into that system. Industrial engineers are concemned with
factors which govern work performance to a greater extent that arc most other professional
engineers, Typically, they are required to be familiar with and apply progressive methods in
industrial management and industrial psychology.

Industrial enginecers advise management and production officials on such matters as establishing
organizalignal pattemns and systems and procedures, planning flow of work, establishing work
controls, planning and controlling quality of a process or product, establishing cost and budgetary
controls, and measuring the overall effectiveness ol the organization, methods. systems, and
procedures. They identify the need for changes in the organization and procedures, and develop
plans for the reorpanization of faeiliies. They imvestigate and evaluate faclors affecting
perfurmance of men, materials, equipment, and integrated systems. They make or review the result
of work measurement and work simplification studies, and analyze factors leading to operator
fatigue, or affecting operator safety.

Because of their broad understanding of the basic activity arcas of management, and their
engineering approach to management problems, industrial engineers are frequently used as a staff
advisor 10 top management on nonengineering problems of a high management level as well as on
problems which are characteristic of industnal engineering work pur se.

¥What is the main topic of this passage?

1} Industrial enpineering positions 2 Industrial produgtion planning

3) Activity arcas of management 4} Industrial engincering functions

Which of the following can be inferred from the passage?

1) Industrial engineers propose improvemenis with predictions ol the expected results.

2} Some management problems involve application of engineenng principles and practice.

3} Industrial engineering is a very dynamic field covering only areas of engineering aclivity.

4y There is no overlap between the work of the management analyst and the industrial engineer.

Which of the following is NOYT mentioned as a pessible responsibility of an industrial
enginecr?

1} increasing spendings in organizations 2) planning the rearrangement of equipment
3} proposing different courses of action 4) advising managers and production otficials
The word “they” in hine 4 refers to -—----—-,

I'} industrial engineers 2} methods

3) professional engineers 4} factors

According tv the passage, industrial engineers can advisc on organizational management
hecause ——--——-—

|} they are skilled a1 solving engineering problems

2} 1they look at muanagement problems through the lens of enginecring

3) they are familiar with the most elfective tvpe and form of management
4y they can identify needs for changes in organizational management
PASSAGE 2:

There are many benetits of celtular manuiacturing for a company iF applied correcily. Mo
immediately, processes  become, more  bafanced and  productivity  inercases  because  the
manufacluring floor has been reorganized and Gdied up.

Parl movement, set-up time, and wait time between operations are reduced, resulting in a
reduction of work in progress inventory frecing idle capital that can be better utihzed elsewhere,
Cellular manufacturing, in combination with the other lean manutacturing and  Just-in-time
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processes. also helps eliminate overproduction by only producing ilems when they are needed. The
resudts are eost savinus and the better control of operations.

There are same costs of implementing cellular manufacturing, however, in addition to the set-up
costs of equipment and stoppages noled above. Sometimes different work cells can require the same
machines and tools, possibly resulting in duplication causing a higher investment of equipment and

lowered machine utilization. llowever, this is a matter of optimization and can be addressed
through process design,

What is the last paragrapb mainly concerned with?

1} cell manufaciuring implementation

2) challenges of cellular manufacturing

3) the cell manufacturing benefits and costs

43 the mgh cost of cell manufacturing implementation

The word “climinate™ in line 7 is closest in meaning 1o ---——-m,

1} remove 2} change 1) develop 4) assess

The passage states that if different work cells need the same equipment, --—-------.

Iy companies will achieve cost savings

2) companics will bave 1o spend more on equipment

3) maximum etficiency of machines will be achieved

4} they can mange cquipment maintenance more efficiently

Which of the following is NOT mentioned as a possible benefit of cell mapufacturing?
17 high productivity 2y better utilization of capital

3] balanced production processes 43 rearrangement of the mapufacturing floor
It can be inferred from the passaye that ————-—-- |

1} when combined with the other aspects of lean manufacturing, cell manufacturing helps produce
low demand items

2} & cellular manufacturing layout requires less floor space as a resull of the rearmangement of the
entire factory floor

3y successfully implementing cellular manulacturing allows companies to achicve cost savings and
Juality improvements

4} individual work cells will be optimized for a narrow range of tasks if they require the same tools

PASSAGE 3:

‘The configuration management task involves responsibility for maintaining a documentation
trail of changes from the initial configuration (o the final end product. This trail ensures that all
required deliverable hardware and software enginecring data are identified, documented, and
released 1o the government, Configuration management must ensure that the requircments are
flowed down 1o both the internal and subcontractor partics responsible for performing the work
aclivities. Confipuration management also includes follow-up with the release of information to
make sure it is acceptable to the government client.

Jata management involves administration and control of all the program data required by the
customer. The sovernment negotiates with the contractor on the data that are to be delivered and
formally makes this part of the contract as stated in the contractor data requirements hist {CDRL).
The contractor's dulics involve establishing, maintaining, and implementing a data management
program. Several current programs have established electronic technical data libraries that are used
by personne! on both the government and contractor side to share infarmation.

What is the main topic of this passage?

1) Trends in systems engineering

21 Svsiems engineering definition and lunction

31 Tasks specifie to contraciar program management

4} Tools used in systems engineering and program management

According 1o the passage, the configuration management task involves -—--weaam-

|} updating the project schedules 2} m::}mlc:lrmL the program budget

V) dlocumeming changes 1o work in progress 4) running a data management program
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28- The second paragraph is mainly concerned with == .
1} government’s duties 2} data management task
3) delivery of program data 4) contractor data requirement list
29- Where in the passage does the author mention the responsibilitics of the contractor?
1) Lines 9-10 2} Lines 4-6 3y Lines 11-12 4) Lines 6-7

30- It can be understood from the passage that —-vmmm-.
1} the configuration of the end product hardly ever changes
2} program data are controlled so that they meet the contractor’s requirements
3} the government and contractor control the program data through data libraries
4} the government will accept program data provided they are in accordance with CDRL
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EROGRAM ARITH
IMPLICIT NONE
REAL::AB.C
INIEGER 1
A=l.35
B=2.0
C=A/B+A
[=B/A+B
PRINT *,C.1
END PROGRAM

dd e U dwir 3 la ML'-_H (t 225 2 4 0.57 | 0y 0.57 00

T g el jar  ogyd ol iy ACT=6 y LEN=7 a551 5, LFORTRAN 90 b5 ;0
SELECT CASE (MOD{ACT,LEN))
CASE(1,4,7)
ACT=1; LEN=LEN+1
CASE(2)
ACT=1; LEN= LEN+2
CASE(3)
ACT=3}; LEN=LEN+3
CASE DEFAULT
END SELECT
PRINT * ACT,LEN
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REAL FUNCTION F{X)
IMPLICIT NONE
REAL T
RFEAL, INTENT (IN) :: X
INTEGER :: NT
REAL :: TOL=1.0 E-&
F=10; T=1.0n; NT=0
DO NT=NT+1; T=(X/NT) *T; F=F+T

IF(ABS(T) <=TOL} EXIT

END DO
END FUNCTION F
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IF 2>1 THEN WRITE ("AB’);
ELSE WRITE (*CD’);

L =1;
WHILE L<=5 DO
BEGIN
WRITE (*XY");
L:=L1L+1
END:;
ABXYXYXYXYXY (v CDXYXYXYXY 0
CDXYXYXYXYXEYXY (F CDXYXYXYXYXY o

ity oo i a7 i3 5wy PlusOme ali 08 2 Jawly ot 52
FUNCTION PlusOne (P:INTEGER): INTEGER;
BEGIN

PlusOne := P+1
END

D] ratmas i3 3 0 3 S plad Jal Suce o jlailiv] AT L Al o) desli 53 o1

s T SuCC L Mae PlusOne ()

2t Buce ol 3 ols 2= PlusOne (¥

oz SUCE i 51 7 agae PlusOne (¥

w5 Suce b Moz Plus One . INTEGER (g1 2 16 gl gl 2 (F
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¥ sy
READ {S,M);
WHILE NOT EOQF(S) DO
BEGIN
READ (5, Somelnt);
IF (Somelnt < M) THEN M:=Somelnt;
END:
WRITE (M)
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c=20;
a=10;
printf(*%d", (10 +c¢>a+ 12))
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# include <strinp.h>
# include <stdio.h>
int main{void)
{
char sir]5];
strepy (str, “this is a test™);
printf(str);
retarn 0;

!
<ok ity # include <string h> adap (¥

w905 e s Joce 0Bl e pgne (F

# imclude <stdio.b>
int main {void)
{
int a[é] = {10, 20, 30, 40, 50, 60};
int *p;
p=a;
priotfi{®%d %d %d\n”, *p, *p+1, *{p+d));
return ;

10 20 30
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20 21 30 v 20 30 400

T o date ouilys gy i3 wlem 31K sl bl o] 1Bt ald 5 date 5 structore Sy card 11 C gLj 0

}
10 21 30 «¢f
scanf(%d, card & date); (v
scanf("“%d”, card. & date}; (f
# include <sidio.b>
int main (void)
i
it i
printf(*Enter a number:™);

scanf((" Yed™), &i};
=i=>0?1:-1;
printf{*ont come : Yed™, i);
return ;

]

scanf(“%d", card. date); (3
scanf{"%d", & card. date )¢
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